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) Test yourself

6 State whether each of the following half-equations

involves oxidation or reduction:

a Ch+2 =20

b Mn* +e¢ = Mn®*

¢ Cu' 5 Cu+e

d L +6H,0 - 205+ 12H +10¢”

e CrO7 +14H +6e” = 207" +7H0

7 State which of the following reactions are redox

reactions. For each redox reaction identify the
element that has been oxidised and the element
that has been reduced.

a Cuz_(aq}+2DH_(aq] = Cu(OH),(s)

b 2Zn8+30, = 2Zn0+50,

¢ 2Na+2H;0 — 2NaOH +H;

d S0+ H,0 = H,80,

e N2,CO3+2HCl = 2NaCl+H,0+COy

f 2FeSO4+ HoS0s+ Hy0; = Fer(SO4)3+2H,0
g 3HgS04 — HpSO4+Hg+250,+20,
h 2I"+H"+HOCI = I, +H,0+CI”

8 In each of the following redox reactions, identify
the oxidising agent and the reducing agent:
a Zn+CuSOy = ZnSO4+Cu
b Cl+2Br = 21 +Br,
¢ [H0:+5C0O = 5C0O;+1;
d §+6HNO; = 2H,0+ H,S0,+6NO,
e 2Na,$5,05+1; = Nap§,0,+ 2Nal
f 2KMnOy4+5NaCo0y4+8H,50,
5 2MnS0, +10C0, +K50,
+5Na2504+8H,0
g 6FeS04+ Ky Cr0O7 +7H,504
5 3Fey(50,)5 + K80, + CryS0,)5 + TH,0




